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Comparison of running time of sorting algorithms (in Micro Seconds)
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Comparison of space usage of sorting algorithms (in Kilo Bytes)

Runl | Run2 | Run3 | Run4 | Run5 | Run6 | Run7 | Run8 | Run9 | RunlO | Average
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1. Which sort worked best on data in constant or increasing order (i.e., already sorted data)? Why do you think
this sort worked best?

2. Did the same sort do well on the case of mostly sorted data? Why or why not?

3. In general, did the ordering of the incoming data affect the performance of the sorting algorithms? Please
answer this question by referencing specific data from your table to support your answer.

4. Which sort did best on the shorter (i.e., n = 1,000) data sets? Did the same one do better on the longer (i.e.,
n = 100,000) data sets? Why or why not? Please use specific data from your table to support your answer.

5. In general, which sort did better? Give a hypothesis as to why the difference in performance exists.

6. Are there results in your table that seem to be inconsistent? (e.g., If | get run times for a sort that look like

this {1.3,1.5,1.6, 7.0, 1.2, 1.6, 1.4, 1.8, 2.0, 1.5] the 7.0 entry is not consistent with the rest). Why do you think
this happened?



